arcmin

BAT.no=601

SWIFT J1213.1+3239B
B2 1210+33
z=2.50414

flux[10™"erg s"'em™&!]

10

-04 -02 0.0 02 04
arcmin

T T T T T T T T T T T T T

PR [T S TR I TR S SR R ST SR S |

3400 3600 3800 4000
)\r.f. [A]

flux[10™"erg s 'em?K']

[\V]
o)l
@]

Y]
o
o

—
(o4
o

—
o
o

o))
o

@]

10

survey/campaign:SDSS

date:14/04/2014

- obj. .
[ == fit -
LR res. 7
— emi. -

4000 5000 6000 7000
)\r.f. [A]

N LR T T T 10— T I I I T
- . 8 - -
- - 6 - —
- - 4_ - -
- - 2 - —
-nnnnl nnnnnnnnn Lo s vv a0 Lov s va a0 lnnn- O-nnnl nnnnnnnnn | IR A A | IR A A | IR A A | IR

4700 4800 4900 5000 6300 6400 6500 6600 6700

)\r.f. [OA]



